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L noteld O O O OO O 0O 00 the school wants to increase its fee for
the students recreation center, because that way it can use the money
to buy some new equipments for the recreation center. [J [
Oproposall O OO OOOOOO. sentence 2: 1 0 O O O eg.
here the boy student supports this idea. He thinks this is a very good
policy for the followingtworeasons. O O O O OO0 0O OO0 OO
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Oo00,0000000000000000000,00...0
DO00000000000000..000 0 he thinks that the
policy will enable the school to Oupdate the facilities in the recreation
center. Currently the recreation center is not very popular among the
students because the facilities there are too old. If new and more
advanced equipments are available, more students will go to the



center, and this is very good for all the students. Thus, the increase in
the entrance feeiswellworthit. (D O O OO0 OO0 00 O,00 O
OoO00)odood,dddn So,hethinks that the benefits of
the increase in the fee farexceed thecost. J O U OO OO .0 0O
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conceptof ...(1J OO OJ [0 )...says that .... it means that people tend to
Imitate others behavior if that behavior leads to a desirable
consequence. and people will avoid others behavior if that behavior
leads to a bad consequence. J U 0O 0O O 0O O OO O inthe lecture
the professor gives an example to demonstrate this idea. In the
example, a ooy and a girl went shopping with their mother. The girl



wanted a doll but her mother refused to buy it for her. If, the mother
agrees to buy the doll for her after the girl starts crying and shouting
for the doll, the boy would be able to see this, and he would do the
same in the future if he wants something himhelf. However, if, on the
other hand, the mother still refuses to buy the doll for the girl and
punishes her by not allowing her to watch TV after they go back
home, the boy would see this, too, and he will not learn from his
sister in he wants something inthefuture. J OO0 O OO 0.0 00O
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[ develop O OO OOOO OO (adapt to)d O I O . one way
that some sea birds use is that...for exampleld O U [ XXX O,
Do0o0.(000do,0000,0000 0 wings specialld OO O,
DO0000OdetallD OO0 O0O0O)ODDODOODOODOOO save
energy.l] U0 OO OO OO OO O O migrate over long distances, ] [ saving
energyl D00 000000 @OLDOoOo,0o,00o00oon
0000 0O) another way that ...use to ...is.... for example,d [
Do0o0o,0000000.000 0 feed onakind of
planktom, which is very tiny but gives out a very special smell,[] [
Jododododododouooooodooodo
O 00O 00O O. so these are the two major ways that birds use to
adapt to their lifeonthesea. 0 0,600 O 0O O U O O ,XDFO O "in
this set of materials, the reading passage is about... the listening
passage isalecture onthesame topic.."0 0 0D 00O 0O,00 00
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